SuMPO o Third party verified

. E p D Environmental Product Declaration

JAPAN Confromance with

VERIFIED 1ISO14025 | 1SO14040 | 1SO14044
SUMPOEREEINILSOYF L (SUMPO EPD)

CS wemnmLTiy POLRHELTS

MUKOYAMA STEEL WORKS CO.,LTD

ERE (SD345)
Deformed steel bars (SD345)

.........

EBES RIEES RIEAHEH N REEA B AR EPDYA1T
SuMPO-EPD-2511-18-1 SuMPO-EPD-2511-18-1 2025/11/18 2025/12/10 2030/11/18 BE—RIFEPD
HEHENEBERYRAFE
BINOAERFTIE EPD(IAREEHARI CHoTE BRI B AR PILL BB LD HYZET,

EPDOEH RS LUEMNIEZRER T B CIIA T E2RERL TS,

1S021930:2007 https://ecoleaf-label.jp/epd/search



SuMPO

JAPAN

R ES) SUMPO-EPD-2511-18-1
Environmental Product Declaration for Deformed steel bars (SD345) .. E p D
VERIFIED

Q@ EXKIEIR
>0 L1ER
T0J3L&FR SUMPORRIESAILTOIS L
TOISLARL-45- — MR EEA Y AT T IR = HE S
FRTEHE HFEATAHEXAEET-12-8 KANDA SQUARE GATE 4F
1791k https://ecoleaf-label.jp

> GPI-PCRIEZR

GPI SUMPO EPD Japan General Program Instructions v.2.1.1
PCRETR EEAssm (PR
PCREFES PA-180000-AJ-08
PCREZEH 20255E7H10H

LEa-KxVEER (FAE) WEF F/th (FEXE)
PCRE ZNHARR 203078108

PCRE/T & A IR A AT TR R
> WREEIEER
1SO14025:2006 % 0'1SO21930:2007 [Cfit >T=58 = E R EF
o O m e
BALOER BHRITECL REEICLS g EOVATLRE
= HRT = ERE &R R

WRALREE (TE) M KE MAt0vy)

> BEPLIRE
1SO14040:2006 1SO14044:2006 (O 1S014067:2018
YLK 1SO14025:2006 1SO21930:2007 O 15021930:2017
(O EN15804+A2 (O EN50693:2019 (O ISO/IEC63366:2025

EPDICEEH DB R UEPDICREHOBERICE T ZRIETRICOVTO—YIDEEFEPDESEEEN LT, EPDOARICETZI AR, HREEIC
DL\ T, EPDERBEEEZELTERINADELEIL,

EPDDELE (T, BEEZOEEEEZ T 2ICERLE L TERSNAINERSHBW\ED, BRERICBIZEMOIM IV 2hEE B L BRERICBEVT
RZEOAREEELEYTUAEZBAL TV HENHYET, EPDOLLEDBRCE BRI NEXHEAESNERTZPCRESIBL LS,

EPDA'E S BALICEDNWTWRIHA. LB EHEE B H Y TIThhEThiERY £t A,

RIBFETME RIS THENNEERETT, BIEOASSILLYREANOHZEEZ—RCRERITSNIEOTRHYE A, £, HELLBEITREAD
BRSSP (FEZBELTWN'E) ( UAZFHE (REPARICENLTOFZEERETHIE) ZEERIEOTEHYEEA,

MEFHERWVLREEDSRE. F17YMVIZEFMBER RIS ITV1INAIRY NS BEIEIFR. BEYBERER. HHJ0-CHETRERR
[ RFEOHRBIOOVWTOBERTIEIBYEEA.

@EPDHUSREHEIR
EEEL-BEL  HASHALTBAETS
{ERR SERAETAFEHT 1 i
MWEbhtk 0480-22-8555

LCAEERME (ATE) MHASTALIS
5 KA stmEL TS
AHAFREH  FER)IOFFEET3-9-1
Ti5rEH : BERAEZTRRIFA1FH
EEEGE %37 : BBAN214E1081H
EEEH  166% (2023F£9A30HKER)
REBGHEMER - AL =


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

E#H&ES) SUMPO-EPD-2511-18-1

Environmental Product Declaration for Deformed steel bars (SD345)

@& LIFIR
LU B EREM (SD345)
S FOE SD345
Kot IV7)-MEEY O,
WEEE 156 kg/m (% : D16) BRI
B ARR

SuMPO

EPD

JAPAN

VERIFIED

SEmoAE  IVJU-MESEYMORBICHEBMELTREL, BEYeAOMAL P etEm Lt 2,

RATERE  JIS G3112(CEMUI AR - 1 REZF T 2.
FH 504
EASRE HKEKHIVIU-ME-HKEHIVIU-MEOEHAT AR

it FA S 5% EYERROMAERE L, B8, HRFRIEARRICEVERSD, —BIICAR RO

FHERELLRA MAMEEIETEOTEEN,
HE BRI ERRMENEEOMAFRE] (2022F)

SIS (BERR) AETH

B EHE A1V NEEYOHARTRISRES
SEITTHA https://www.mukoyama—steel.com/tekkin.html

ORI RUMEICET B ER
HREHRER & (%)

==8
#k[Fel %5 v kg
YUY IMn] =1.80 =18.00 kg
$A[Cul =1.00 =10.00 kg
Zy7JVINI] =0.60 =6.00 kg
70AL[Cr) =1.00 =10.00 kg
AEMBRESR A (%) HE
X EREROE : SD345(CB8T 3T -9 TH 3,
OLYHRRRESEE

HH EE= (kg-C) EE= (kg-CO: eq)

SmHlYOEYHERKEZERE
RHTICOLZBEEMOEYHRREZEEE -
X REEMOER : SD345(CBF 3T -5TH3,


https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html
https://www.mukoyama-steel.com/tekkin.html

Z§%%ES) SuMPO-EPD-2511-18-1

Environmental Product Declaration for Deformed steel bars (SD345)

OLCA BEEIEFIR
>EPDY1/1EER

SZI1TS
EPDYAS  BAbI(4T
BRAE

Ho 3 Y &

R/ EHT

ZETEPDICHITZ
REMEDHRHA

BB /ERT ST
EPDICHITE. EEFERD E

THRICRET 25

> LCARDE B IR

BEEEM
EEEMLYLYDEE
(EEADRERH)

HHEIN- (MaEEMEHEI S

[CRABERELRE)
JATLER
LCAYI+DIT
LCIT—FR-2
LTSIV

=]

—RF-IRH

—RT-HUNEHL 2
—RT-FINEHAR
YRR R DI KL

BE

(O Cradle-to Gate
CloudhR MiLCA

H-8mA

BEYA

RE(E
E R

AIST-IDEA ver3.4

SUREH) : IPCCHORFMMES (IPCC20216) | 20D
20O\ ISIIRT-Y  $%RAI5yT (AAHKMERT-5)

0O MEFHSE

O 7-78&

Cradle-to-Gate with options

EBEYH

K&fE

O =R"m

SuMPO

LIRfE

EPD

JAPAN

VERIFIED

(O Cradle-to-Grave

SR ¢ LIME2

GPICTRESNTWBR KT RB%H-LET- 2BV E T 2T, B, T-YRET
fHild 1SO 14044 : 2006 (BIBVRIAY R —FATHAINTELAAY b — EREBE R UIEH)
M 4.23.6 ICHE>TITOT,

AETH
20234548 ~202443 8
0/0770-F

E P DR BRENIVIA

BHEKIC e

ESERIE

BAR

FITTT

> BT RERPE
BEMELERE

A3

foié

B HEmesEXH=
BEES >%HZ

B EENR

TE1TER

MES > W%

- CEERRA

]

A5

H &

B1

&

B2

HE
+
F

(53
S

B3

W

1

i

fEFER RS
EMEE

B4

FY,

B5

Q -v+177o-F

O =zoft
S ENIK BEE

B6 = B7 CI
I

= i3
VoK R
¥ fE .
| B #®
H =
=

FRARER B
C2 C3
53

R
) Ei
O | 0
oo
s

HEoSsH®mQ

| B R R I



SuMPO

#$%&%S) SuMPO-EPD-2511-18-1 E
Environmental Product Declaration for Deformed steel bars (SD345) . o W
VERIFIED

>7r0r-v3y

AEE T, GPICEREHOFIETTOCLAOB LB LU TO-T -3V ER L, SEHET ROV AT LN SESD295,
SD345, SD390, SD490, MK785M5AfEN S e LTHEHENZ, TOTADMALIC L3707 -3y EENREETHY, 4
IO ANSH SN2 2 MBEOREMEREEREFTHEED. BELLZYEETOT-YIavETolk,

>hybAD

BEFENMYD TT-YINENMRELTOTRCOVTE, PCRIZESTS%DEE R THY M DEITo1z, R RFRERBEICH
WTR7I0vyAY CB5) 7107046 GBS (LFREIMER 84 . CDQK (BH) %. BhxrERBEICB\TIRY
SyTEEREI-IZTVT Y ORME MMEIEUNE, EERBCEVTRSHFETR  ZRMATIR - IVTLyY - 8HK,
AR fE (EETH) OBHENYIILE.

>YAT LIRS

PCR[PA-180000-AJ-08 XI5 &M EZAKME R (PREEN]ICEDIERTEEITOR, GPIBLUPCRIZTESHSNT=, [BH
L E - Eok - §<1._M%57D127\7<EJ7\7L\1“§?Wtbfﬁi’aiﬁoto BH, BBV ATLEFRE100ETHD,

>IFUA
EJ1-0 El:]
BEMRFZERELCBVNT RATI79TMOIEANLNZ HHVITIBEDNRE THo1=1-th. PCROEHEYFUA

A2 (Bes£200km. 10th597) EEERILE.

A3 BUERBETELRAITIIOV TS, BEEAB S EN TR THoL 128, PCROYFUAICHE > TR LT,



ZBES) SUMPO-EPD-2511-18-1
Environmental Product Declaration for Deformed steel bars (SD345) ..

>BHETVVY

SuMPO

JAPAN

VERIFIED

WHRETZETDIMITVATIVERBEICEVNT, 2021 E(LHTZAEAFHORTENDT-Y2AVTEEZIT,

>J147%19)170-K

_

Iﬁ.‘.—%ﬁ

< D fihlE

955 o w | somma

FalG- DEE- #nd hoEL- FEGiE- FyEE TR Er)
= = - e | I3k




F$%%&%S) SuMPO-EPD-2511-18-1
Environmental Product Declaration for Deformed steel bars (SD345)
OETERER
>S1TY1 IV EHERER
. s - fEFAER RS n
BV BLEERPE HETERPE G sk FRRARER B
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 c3
S[MREE) - &5 kg-COzeq | 1.15E+02 | 4.15E+01 | 4.31E+02 - - - - - - - - - - - -
SURZES) - (L REK kg-COzeq | 1.15E+02 | 4.14E+01 @ 4.30E+02 - - - - - - - - - - - -
SUEEE) - £k kg-COz.eq 1.53E-02 = 7.95E-03 | 1.66E-02 - - - - - - - - - - - -
SEZH - THHBRIRE kg-COseq 5.12E-02 | 4.29E-02  3.86E-01 - - - - - - - - - - - -
AV ERE kg-CFC-11eq| 9.50E-07 | 1.84E-09 | 1.22E-04 - - - - - - - - - - - -
ZEl kg-PO.eq| 5.58E-05 | 1.96E-07 | 1.42E-04 - - - - - - - - - - - -
B kg-SO.eq| 2.89E-01 | 6.18E-02 | 3.12E-01 - - - - - - - - - - - -
HACZAF VY MER kg-CoHoeq 6.23E-04 | 4.42E-04 | 4.84E-03 - - - - - - - - - - - -
BIATYAYOIA TV T I
FEEMERIES - Sh kg-Sbeq | 2.35E-02 | 1.72E-07 | 1.58E-03 - - - - - - - - - - - -
SURZE) - 22tz kg-COzeq - - - - - - - - - - - - - - -
>S1TH1INAVRY M) B REEER ——REROERICET 351
3 3 e o fEFER RS ~
BV ELEERPE METERPE B P FRARER B
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 c3
BAERR—RER - 18 MJ 1.35E-01 = 3.90E-04 & 2.76E-01 - - - - - - - - - - - -
FBFERRE—RER - 18 MJ 3.35E+00 | 1.52E-03 | 6.42E+00 - - - - - - - - - - - -
BEAE—RER - IRIF- MJ 1.62E+02 = 2.39E-01 @ 2.74E+03 - - - - - - - - - - - -
IBERRE—RER - IRI¥- MJ 2.03E+03 | 4.54E+02 | 9.49E+03 - - - - - - - - - - - -
>SATYL1IWAIRY M) A BEEER — R EROERICEI T 5151%
5 . - fEFER RS ~
BV BLEERPE HETERPE aHEE stk EE FRRARER B
Al A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 c2 c3

ZRME kg
BAERBEZRIAR MJ
FEB A AR R IR M)

EURTRILF - M)

ca

C4

Cc4

SuMPO

EPD

JAPAN

VERIFIED

FERN

D
1.76E+02
1.82E+02
-5.99E+00
0.00E+00
3.30E-08
3.35E-03
2.79E-01
-2.42E-03

-4.25E-01

B

D
3.49E-03
0.00E+00
0.00E+00
1.67E+03



F$%&S) SuMPO-EPD-2511-18-1

Environmental Product Declaration for Deformed steel bars (SD345)

>SF4TY1IIA VR PSR BERE —FEEMER-L R RAOHEE

FEYEREB-LAE
KKDEE

> BEEMBEERR

BEREREY
B LAV 1 FESEY)
RBEMELANIV RS HEREZEY)

i
B

> A 70-ICRY BRIFIER

B AR R AR G

VYAV AR R

Ix)VF-EUAH R

BEMHOOFEHIRIF-
(TRNF-EUHEZ60%)

FEYOEEA
(TRIF-EUHE <60%)

B3 05 R YY)/ BB R A TR

M)

kg
kg
kg

M)

MJ

MJ

BV LSRR
Al A2 A3
1.76E+03  5.62E+02 = 5.34E+03
1.56E-01 | 1.17E-03 | 1.72E-01
EMBOEREE
Al A2 A3
2.10E-01 | 3.72E-02 | 9.04E+01

1.29E-09 | 1.51E-12 | 1.68E-08
5.40E-07 | 6.32E-10 = 7.03E-06

BMBLERRE

METERPE

A4 A5

MET B F&

TET xR

B1

B1

B2

B2

AtpE
B3

A EEE

A EE
B3

EFRERRE

B4

AR

BB

B4

B5

B5

SHIKBEE
B6 B7

SHIKBIE
B6 B7

FeEhoK B E
B6 B7

c1

c1

PR ERBE

c2 a3

FRARERBE

FRARERBE

c2 a3

SuMPO

EPD

JAPAN

VERIFIED

Cc4

BRI

D
1.43E+03
0.00E+00

0.00E+00
0.00E+00
0.00E+00



43®S) SUMPO-EPD-2511-18-1 SuUMPO

Environmental Product Declaration for Deformed steel bars (SD345) .. E F D

JAPAN

VERIFIED

>LCARERRICEAT 551

ORFEFZELLT, JISQR0915([CE IS KU1 R HEL. [DIERACZOEEZEHLE,
SECERALSKRE ROV T IIERE, BARSKIERNNFELTNSHEETEIS. 7% THD,
Fr SHECERLERIIVTREALL, #5205V 7 (BARKMEBRT-Y) TH?,

@RAIZYFH OEHECDWNTIE, PCROVFUAIHEST=,

QEEYDEZESECDVTIL PCROVTUAI ST,

OFERLEBHORBEARIES, BAF, 2021FE | THd,

BO—RT-HDUNELAR$2023FEE TH D,

Q@ EINRIEIEHR
> LCAICEIEL B LVEINRIEE R
ISO1400153E T#H(CTHE
(GREHE : BAREXI-IT1%ASHE ZHES  £2174)

>BEYEICET 515
BEMES CAS No. BRAINZEEL IR 0SB
NVHY [Mn] 7439-96-5 ZEE BSES550
7 [Cu] 7440-50-8 ZEE BSES3T9
Zy7)b [Ni] 7440-02-0 ZEE BSES418
704 [Cr] 7440-47-3 TR BHSES142

EMBLUEREMNOOERRYE DK H

@&k

+1SO14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



